Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4269]-301

T.Y. B.Com. EXAMINATION, 2012
BUSINESS REGULATORY FRAMEWORK (M.Law)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define contract. Explain the different kinds of contract. [16]

2. Define “contract of sale of goods”. Explain the difference between
‘sale’ and ‘An agreement to sell’. [16]

Or
What is Quasi contract ? Explain the different kinds of Quasi

contract. [16]

3. (a) Explain the composition, jurisdiction and power of “State
Commission” under Consumer Protection Act. [8]
(b) State the objectives of TRIPS. Explain categories of IPR covered

by TRIPS Agreement. [8]

P.T.O.



Or

(e¢) What is Unfair Trade Practice ? State the types of Unfair

Trade Practice.

(b) What is Design ? Explain its characteristics.

[8]
[8]

4, Define Negotiable Instruments. Explain the types of Negotiable

Instruments.

5. Write short notes on (any fwo) :

(a) Formation of E-Contracts.

[16]

[16]

(b) Conciliation proceedings as per Arbitration and Conciliation

Act, 1996.
(c) Traditional knowledge and Intellectual Property Rights.
(d) Salient features of Consumer Protection Act, 1986.
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Total No. of Questions—4] [Total No. of Printed Pages—8+3

Seat
No. [42691-302
T.Y. B.Com. EXAMINATION, 2012
ADVANCED ACCOUNTING
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. (A) Answer in one sentence only (any five) : [10]

(2)

(i1)

(ii1)

(iv)

(v)

What is the percentage of profit transfer to the Statutory
Reserve by the bank every year ?

What do you mean by dislocation period ?

What do you mean by cum-interest price of Investment ?
What are the methods of finding the profit or loss under
Single Entry System ?

State the basis for allocation of Advertising and sales

promotion expenses.

P.T.O.



(vi) Name the farm asset on which depreciation is not
provided.

(vii) Which accounts are prepared in Stock and Debtors
System ?

(B) Write short notes on (any fwo) : [14]

(i)  Contingent Liabilities

(i1) Accounting Standard 12

(iti) Features of Farm Accounting

(iv) What is meant by ‘Departmental Accounts’ ? Explain the
various objects of preparing Departmental Accounts.

(v) Meaning and features of Management Accounting.

2. From the following figures taken from the books of Laxmi Bank
Ltd., you are required to draft as on 31-3-2011 :
(a) Profit and Loss Account

(b) Balance Sheet, with necessary working in prescribed schedules.

Particulars Debit Credit
Rs. Rs.
Equity share capital of Rs. 100 each 4,00,000
General Expenses 24,000 —
Current Accounts 20,20,000
Interest Paid 23,000 —
Reserve Fund 1,00,000
Fixed Deposits 12,80,000
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Savings Bank A/c

Cash in hand

Interest received

Loans, Cash Credit, Overdrafts
Depreciation on Premises
Premises

Silver

Bad debts

Cash with R.B.1.

Cash with Other Banks

Gold

Money at call and short notice
Profit and Loss Account
Discount Received

Commission

Dividend paid

Investment in shares

Bills discounted and Purchased
Govt. Bonds

Recurring Deposits

Total

2,00,000
35,000

1,60,000
20,60,000
27,000
4,31,000
32,000
8,000
2,00,000
1,03,000
39,000
1,00,000

1,20,000

30,000

5,000

30,000 —

9,40,000 —
2,63,000

20,000 —

— 20,000

43,35,000 43,35,000

P.T.O.



Additional Information :

(1) Rebate on bills discounted Rs. 12,000.

(2) Interest accrued on investments was Rs. 10,000.

(3) Provide Rs. 20,000 for taxation.

(4) Provision for bad and doubtful debts is required amounting

to Rs. 10,000.
(5) Bills for collection Rs. 80,000. [14]
Or

A fire occurred in the godown of J.K. Co. Ltd. on 31st March,
2010 destroying the major portion of the stock. The following particulars

were however available :

Rs.
Stock on 1st Jan. 2009 31,400
Stock on 31st Dec. 2009 35,600
Sales for the year 2009 1,00,500
Sales from 1st Jan. 2010 to 31st March, 2010 40,250
Purchases for the year 2009 80,000
Purchases from 1st Jan. 2010 to 31st March, 2010 12,600

Included in the stock of 31st Dec. 2008 were some shop-soiled goods
which originally cost Rs. 2,000 but were valued at Rs. 1,400. Half
of the stock was sold for Rs. 500 in the year 2009, and the remaining
stock was valued at Rs. 600 on 31st Dec., 2009. Half of this was
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sold for Rs. 250 in March, 2010. The remaining unsold portion was

considered to be worth 80% of its original cost. Subject to this,

the rate of gross profit was uniform.

The

sum insured was Rs. 15,000 and there was an average clause

in the Policy.

The stock saved worth Rs. 1,200.

Find out the amount of claim to be lodged with the Insurance Company

for loss of stock. [14]

3. A

[4269]-302

Rajesh Ltd. held 12% Gold Bonds of Rs. 50,000 (cost Rs. 52,000)
as Investment. On 1st April 2010, the interest on these investment

is receivable on 1st January and 1st July every year.

The following transactions took place during the year ended

31st March, 2011.

(i) On 1st May, 2010 purchased Rs. 20,000 at Rs. 102, Ex-

Interest.
(1) On 1st August, sold Rs. 30,000 at Rs. 104, cum, interest.
(ii1) On 1st February, sold Rs. 10,000 at Rs. 106, cum-interest.

On 31st March, 2011 the market value of the investment was
Rs. 102.

Prepare Investment Account for the year ended 31st March,

2011. [8]
5 P.T.O.



(B)

[4269]-302

Asha Ltd. Pune, has a branch at Mumbai. All goods for sale

are invoiced to branch at cost plus 25%. All expenses at branch

are met by head office through separate remittance. From the

following particulars prepare Mumbai Branch Account as it would

appear in the books of Head Office.

Stock as on 1-4-2010 (Invoice price)
Debtors as on 1-4-2010

Furniture on 1-4-2010

Petty cash on 1-4-2010

Goods received from H.O. (Invoice price)
Goods returned to H.O. (Invoice price)
Discount allowed

Allowances

Cheque received from head office for expenses :

Salaries

Rent
Advertisement
Petty Expenses
Credit sales

Cash sales

Rs.
20,000
13,000
10,000

500
85,000

5,000
2,000

3,000

12,000
6,000
10,000
1,000
40,000

66,800



Bad Debts 1,000

Actual Petty Expenses 1,300
Stock as on 31-3-2011 30,000
Debtors on 31-3-2011 18,000

Depreciation on furniture is to be charged at 10% p.a.
Prepare Branch Account for the year ended 31-3-2011 as per
Debtors method. [14]
4, From the following Trial Balance of Mr. Pawar’s farm, Prepare Crop
A/c and Livestock A/c, General Profit and Loss A/c for the year

ended 31-3-2011 and Balance Sheet as on that date :

Particulars Debit (Rs.) Credit (Rs.)
Capital 42,00,000
Land 22,50,000
Farm Building 7,50,000
Machinery (Farm) 16,50,000
Sundry Debtors 6,00,000
Loan 7,50,000
Cash in hand 3,60,000
Sale of Livestock 11,25,000
Sale of Corn and Straw 5,25,000
Sundry Creditors 2,25,000

[4269]-302 7 P.T.O.



Stock on 1-4-2010

Growing Crops and Fertilizers 3,00,000
Livestock 4,50,000
Fertilisers 15,000
Manager’s Salary 90,000
Farm Labour 75,000
Office Expenses 15,000
Manager’s Personal Alc 7,500
Legal Fees 45,000
Farmhouse Expenses 18,000
Staff Meals 7,500
Crop Expenses 1,50,000
Livestock Expenses 6,00,000
Repairs to Farm Machinery 37,500
Sundry Expenses (Livestock) 12,000
Shed (Livestock) 7,500
Tools and Implements (1-4-2010) 22,500
Bank overdraft 67,500
Interest on crop loan 45,000

Provision for depreciation on
Farm Machinery 6,00,000

75,00,000 75,00,000
[4269]-302 8



Additional Information

(1)

(2)

(3)

(4)

(5)

(6)

(7)

[4269]-302

The manager is chargeable with 40% of Farmhouse expenses
and is also entitled to a commission of 15% on the profit
made by livestock account before his commission.
Depreciation on farm machinery is to be provided at Rs. 15,000
chargeable to Crop Alc.

Farm product worth Rs. 30,000 was used by livestock feeding
during the year.

Managers salary and farm labour to be allocated between crop
and livestock as 4 : 1.

Depreciation on tools and implements is to be apportioned
between crop and livestock as 3 : 1.

Stock on 31-3-2011 :

Growing Crops and Fertilizers Rs. 1,50,000, Livestock Rs. 6,30,000,
Tools and implements Rs. 7,500.

Allocate staff meals in the ratio of 9 : 1 to Crop and Live-

stock. [20]

9 P.T.O.



Or
The following Summarised Trading and Profit and Loss A/c of Shah
Ltd. for the year ended 31st March, 2011 and the Balance Sheet

as on that date :

Dr. Trading Account Cr.
Particulars Rs. Particulars Rs.
To Opening Stock 1,00,000 By Sales 8,50,000
To Purchases 5,60,000 By Closing Stock 1,50,000
To Gross Profit 3,40,000
10,00,000 10,00,000
Dr. Profit and Loss Account Cr.
Particulars Rs. Particulars Rs.
To Operating Expenses : By Gross Profit b/d 3,40,000
Sellings & Distribution 30,000 By Non-operating
Administrative Expenses 1,50,000 Income :
Finance charges 15,000 Interest 3,000
To Non-operating Expenses : Profit on sale
Loss on sale of Assets 5,000 of shares 7,000
To Net Profit c/d 1,50,000
3,50,000 3,50,000

[4269]-302 10



Balance Sheet

as on 31-3-2011

Liabilities Rs. Assets Rs.
Issued Capital Land and Building 1,50,000
2000 Equity shares of Plant and Machinery 80,000
Rs. 100 each 2,00,000 Stock 1,50,000
Reserves 90,000 Debtors 70,000
Profit and Loss Alc 60,000 Bank Balance 30,000
Sundry Creditors 1,20,000
Bank Overdraft 10,000

4,80,000 4,80,000

From the above statements you are required to calculate the following

ratios :

(D)
(2)
(3)
(4)
(5)
(6)

[4269]-302

Current Ratio

Liquid Ratio
Operating Ratio
Stock Turnover Ratio
Net Profit Ratio

Gross Profit Ratio.

11

[20]



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4269]-303

T.Y. B.Com. EXAMINATION, 2012
ECONOMICS
(Indian and Global Economic Development)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the characteristics of the Indian Economy as an emerging

Economy. [16]

2. Describe the place of Agriculture in the Indian Economy. [16]
Or

Explain the role of public sector industries in the Indian Economy. [16]

3. (a) Explain the importance of foreign trade in Economic
Development. [8]

(b) What are the objectives and problems of South Asian Association

for Regional Co-operation (SAARC) ? [8]

P.T.O.



Or
(a) Explain the challenges of Liberlisation. [8]

(b) State and explain the concepts of Balance of Trade and Balance

of Payments. [8]

4. Describe need and impact of Foreign Capital. [16]
5. Write short notes on (any fwo) : [16]

(a) Need of the Indian Economic Planning.

(b) Importance of Infrastructure in Economic Development.

(c) Role of Human Resource in Economic Development.

(d) International Monetary Fund (I.M.F.).

(WS wUIaR)
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4269]-304

T.Y. B.Com. EXAMINATION, 2012
ECONOMICS
(International Economics)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Draw diagrams wherever necessary.

1. Critically examine the Comparative Cost Theory of International

Trade. [16]

2. What is International Trade Policy ? Explain in detail the merits
and demerits of Protection Trade Policy. [16]

Or
State and explain in detail the role of International Trade in Economic

Growth. [16]

3. () Explain the motives of International Labour Migration. [§]
(b) State and explain the types of Foreign Capital. [8]

P.T.O.



Or
(a) Explain the demerits of Flexible Exchange Rate. [8]
(b) Explain the concept and structure of Foreign Exchange

Market. [8]

4, Explain the concept of Balance of Trade and Balance of
Payments. Explain in detail the causes of disequilibrium in Balance

of Payments. [16]

5. Write short notes on (any fwo) : [16]
(a) South Asian Association for Regional Co-operation (SAARC)
(b) Types of Terms of Trade
(c) Role of Multinational Corporations (MNCs)

(d) Features of India’s Foreign Trade Policy since 1991.
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Total No. of Questions—5] [Total No. of Printed Pages—8+2

Seat

No. [4269]-305

T.Y. B.Com. EXAMINATION, 2012
AUDITING AND TAXATION
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. Briefly explain primary and secondary objectives of auditing. [16]
Or

Explain the rights and duties of company auditor.

2. Write short notes on (any three) : [16]
(a) Advantages of auditing
(b) Audit working papers
(¢c) Problems of auditing in EDP environment
(d) Auditing and Assurance Standard 1 (AAS 1)
(e) Tax Audit

(A  Audit Report.
P.T.O.



3. A

(B)

(1)
(2)
3)
(4)
(5)

(6)
(7)

(8)

How would you determine the residential status of an individual ?

Explain.

Or

[8]

What is Capital Gain ? Explain any three deductions allowed

from capital gain under Section 54.

Mr. Multiram owns three houses, particulars of which are as

follows : [10]
House A House B House C
(let out) (self-occupied) (self-occupied)
4 4 4
Municipal valuation 3,60,000 4,80,000 6,00,000
Fair Rent 3,70,000 4,70,000 6,20,000
Standard Rent 3,80,000 4,65,000 6,30,000
Annual Rent 3,78,000 4,50,000 6,25,000
Unrealised Rent of the
Previous Year
2011-12 15,700 N.A. N.A.
Period of vacancy One month N.A. N.A.
Municipal Taxes at Paid by Not paid Paid by
10% of M.V. tenant upto 31-03-2012 Multiram
Interest paid on loan 1,70,000 1,53,000 1,55,000

[4269]-305

Find out income from House Property for the Assessment Year

2012-13.



From the following particulars of Ramkisan, compute his total income

for the assessment year 2012-13 : [14]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

9)

(10)

(11)

(12)

[4269]-305

Salary from Pankaj Ltd. ¥ 13,000 p.m. (increased 3

to ¥ 15,000 p.m. w.ef. 1-10-2011) 1,68,000
Bonus 16,000
Dearness allowance 18,000
Entertainment allowance 8,000
Employer’s contribution to Recognised P.F. 25,000
Employees contribution to Recognised P.F. 25,000
Interest on Recognised P.F. @ 9.5% 22,000

Personal expenses of Ramkisan’s son met by the

employer 10,000
Rent-free unfurnished house provided by the

employer, at Delhi whose annual rental value is 96,000
Watchman engaged by the employer for many years

for the security of residence of Ramkisan, total salary

paid to him by employer during the year 6,000
Medical expenses of the employee and free refreshment
in the office 12,000
Personal club bill of the assessee reimbursed by

the employer 2,400

3 P.T.O.



(13)

(14)

(15)

Unit Linked Insurance Plan contribution paid by

the employer 6,000
He deposited I 18,000 in NSS during the previous

year 18,000
Conveyance allowance I 6,000. It is certified that the

entire allowance is spent for official duties.

Mr. Babanrao Balasaheb Bhalerao, working in Sales Tax department,

Govt. of Maharashtra, at Mumbai has furnished the following details

of his income for the year ended March 31, 2012 : [16]

(1)

(2)

3)

(4)

(5)

(6)

[4269]-305

Basic Salary ¥ 36,400 p.m.

Dearness allowance 50% of basic salary.

Transport allowance (for coming to office and going back to
his residence) at I 1,300 p.m.

Entertainment allowance at I 900 p.m.

House rent allowance of I 5,460 p.m., but he paid a rent of
I 8,000 p.m.

Personal medical bills of ¥ 20,000 were reimbursed by the employer.
He has taken a treatment in a private nursing home not belonging

to the employer.



(7)

(8)

9)
(10)
(11)

(12)

(13)
(14)
(15)

(16)

(17)
(18)

(19)

His contribution to the Statutory Provident Fund is ¥ 52,416
and the employer contributes an equal amount.

The interest credited to Statutory Provident Fund Account at
8.5% per annum, I 18,500.

Agricultural Income from land situated in Cylon I 30,000.
Income from short-term capital gain I 10,000.

Income from long-term capital gain I 15,000.

He has been provided with a motor car of 1800 cc engine
capacity for his official as well as personal use. Car is owned
by the company and all Running and Maintenance expenses
are borne by the company.

Dividend received from domestic company <3 10,500.
Interest on bank deposits I 3,000.

Donation paid to Prime Minister’s Drought Relief Fund ¥ 5,000.
Repayment of loan borrowed for the higher education of his
son ¥ 59,000 including interest ¥ 29,000.

Income from speculative business I 20,000.

Life insurance premium paid I 10,000.

Professional tax 3 2,500.

Compute the total income of Mr. Babanrao Balasaheb Bhalerao for

the AY. 2012-13 and also calculate tax liability.

[4269]-305
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(7)) T 7™ § 79 = Aies 3Tkd. &l diEie Jeeqal ] @ [10]

w3 T 'SR’
(W feosy)  (wEieD) (Tfardt)
3 3 3
(1) TRUMGH HeAR 3,60,000 4,80,000 6,00,000
(2) ot Wre 3,70,000 4,70,000 6,20,000
(3) YU WS 3,80,000 4,65,000 6,30,000
(4) oftier Wre 3,78,000 4,50,000 6,25,000
(5) 2011-12 a1 AN
7 T 98 15,700 BA] AR U]
6) R M A=
FToraHt 1 e @] R @ R
(7)  TRUTGHT qeehed fidd 31 9 2012 off AR
(AR 10 FfeRTd) Tiq foos =t T WS
(8) HelleRie AT 1,70,000 1,53,000 1,55,000

FH-fuie ad 2012-13 wRA REIURE HEUR I YT FQ

4., THAMRET = R0 qURTEEET H-FHURT a9 2012-13 HRal THU G

EA [ [14]

(1) Yo fo. ®ed oo TR T 13,000 wfd #Afew 3
(1-10-2011 W& ¥ 15,000 Ufd #fe) 1,68,000
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(2)

(3)

(4)

(5)

(6)

(7)

(8)

9)

(10)

(11)

(12)

(13)

(14)

(15)

[4269]-305

T
HENTE W=l
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fea

o
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8

16,000

18,000

8,000

25,000

25,000

22,000

10,000

96,000

6,000

12,000

2,400

6,000

18,000



. e AedRd 9o § HeR e Hog defie fowm &Y faurma

FHRRG 3ed. 31 HME, 2012 3TER IO qIRTG Jeeqdn fcar o' : [16]

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

9)

(10)

(11)

(12)
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T IR T 36,400 Ufq Afe.

TeME oW1 T8 T0=N 5) Wi

AT W (FEGAd I0 9 wEedgd ¥ S 31,300 Uia Afed).
HEE 9 I 900 ufd wfen

WMAE W 3T 5460 T Afew WG T <R I 8000 e <M.

AT SRIHIE s T 20,000 HOHH WA . AT WIS T

T SWHYER &, § AT AHHGe™ AR
FE Al Juer wfasn frafe fAdimsd T 52416 WS WowmH

Tdhg T I WA TSI

quifqer wfosy fHafe fAdledle e auid 85 Wiwd <UH AN
IO T 18,500.

o wile IAUE fHesos 39 ¥ 30,000.

AR Hedd TH T 10,000.

o C

fdepie wigast w1 T 15,000.

G o hEAGHA hiHRSIRRal 1800 TIEl SS9 efHd=it &R fedl

3R, SR HYAA A@h ST FIEN AR J @IDBEl Gd 6o

3R,
9 P.T.O.



(13) YRdE Hudihed Heo@ @R T 10,500.

(14) &% WA == T 3,000.

(15) 9a9u™ gl Tamu fefErdt ¥ 5000 <orft foet.

N A

(16) Horen Fieomeadt Jdoea wsti=t I 59,000 ITAh! WAhE ol dAHE

T 29000 =S GHIOR IR

(17) Hedsi=a HaEEURE Haee 39 I 20,000.
(18) afomn dffesd=n s« W@ T 10,000.

(19) =FaEE X X 2,500.

FE  dloldls WINE AT h-TEReT o6 2012-13 Rl THRO 34

HE qhE AT WAl DO wR-Eia w1

[4269]-305 10



Total No. of Questions—35] [Total No. of Printed Pages—3

Seat
No.

[4269]-306

T.Y. B.Com. EXAMINATION, 2012
BUSINESS ADMINISTRATION
Paper 1II
(Human Resource Development and Marketing)
(2008 PATTERN)

: Three Hours Maximum Marks : 80
:— All questions are compulsory.
Define training. What are the methods of training. [16]

Answer the following questions (any one) :

(a) Define sales promotion. What are the modern methods of sales

promotion ? [16]

Or
(b) What do you mean by VRS ? State the advantages and
disadvantages of VRS. [16]

Answer the following questions :

(a) Explain scope of human resource department. [8]

(b) Explain importance of succession planning. [8]
Or

(a) What are the methods of improving morale of the

employees ? [8]

(b) What are the objectives of marketing ? [8]

P.T.O.



4, Define advertising. What are the medias of advertising ? [16]

5. Write short notes on (any fwo) : [16]
(a) Kaizen
(b) Employee Counselling
(c) Tele-marketing

(d) Mall
(WS wUIaR)
q% : dF A Tepot o1 ¢ 80
T :— §d YA diefan e sed.

1. YRTAU WUS ®wE 7 YRTUTA YSHdl Shiviel  ? [16]

2, WG WAEl SW fow (FUARI Ueh)
(31) fomagedt wosl ®@ ? fowaggd=n oy dsdt o 7 [16]
fepar

(9) TRaUe Senext WUSl ®E ? RN YRR Jagsie ®Ee d die

W & [16]

3. Goie Al Sl foml

(31) TEEl FEEF fGurER S TR &6 [8]

(aV o

(F) AU e Aed W S [8]

[4269]-306 2



fepar

() wHuE™ gAed SEevEE A TR [8]

(9) TouormETr 3 T &4 [8]
4, WfeUd WUN %I ? Seddel HegH gl T h. [16]
5. 9 fow = (e dF) [16]

(31) HEFA

(9) SHHIR HElegE

(%) SHMERIET

(8) Hie.

[4269]-306 3



Total No. of Questions—35] [Total No. of Printed Pages—3

! [4269]-307
T.Y. B.Com. EXAMINATION, 2012
BANKING AND FINANCE
Paper II
(Financial Markets and Institutions in India)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the objectives and advantages of Over The Counter Exchange
of India. [16]

2. Explain the new trends in Primary and Secondary Markets of Indian

Capital Market. [16]
Or
State the submarkets of Indian Money Market. [16]
3. (a) Explain the working of Factoring Companies. [8]

(b)

(@)
(b)

State the progress of State Industrial Development

Corporations. [8]
Or

State in detail Post Office Small Savings Scheme. [8]

Explain the working of Mutual Funds in Indian Capital

Market. [8]

P.T.O.



4. Explain the working and progress of General Insurance Corporation

of India in Indian Economy.

5. Write notes on (any fwo) :

(a)
®)
(c)
(d)

Housing Finance
Venture Capital Finance

Unit Trust of India

Industrial Finance Corporation of India.

(WS ®aial)

=1 M

M :— () T W Grefau STeRds SR
(i) oS s o T el
({ii) USHMEIS He3 TUSH YUl TR

o oo [al

[16]

[16]

TEOT T ;80

1. gRaren ©id fafma sgmEn Sfesed onfor B T &L [16]

2, YA "iede dNRE WEfHed A TEW deRde 79 JaE e S [16]

(fenam)

YRAT  AESRId S SYSTSR. ST

3, (37)
(%)

[4269]-307

3Ted HIR HUAET HMEAN T FH.

Tsg  ofEnfiter foohrd HEM<c= Ul W

2

[16]

[8]
[8]



(fenam)

(31) Ure AP 31e9 o=d Al gfa&R 9. [8]

o N

(F) 9URAE ViSdoaNNdies W& A=t ™ T . [8]

4, gagHRU faur wEmEerEl vRdE sdfouarddie ST 9 gId] Tt

. [16]
5. Ju fom (vaE 9F) [16]
(31) T fomqeean

~

(9) wERE wiede faw
(W) FFHe T= A® gfem
(T) 9RdE SiEfe foaqee wemess.

[4269]-307 3



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4269]-308

T.Y. B.Com. EXAMINATION, 2012
BUSINESS LAWS AND PRACTICES
Paper II
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State the nature and scope of the Employees State Insurance Act,
1948. Explain briefly the important provisions regarding Employees

State Insurance Act, 1948. [16]

2. State the provisions regarding realisation, repatriation of and exemption
of foreign exchange as per Foreign Exchange Management
Act, 1999. [16]
Or
State features of Employees Provident Fund Scheme as per Employees

Provident Fund Act, 1952. [16]

P.T.O.



(B)

(C)

(D)

[4269]-308

3. (A) State nature of Minimum Wages Act. State the provisions for
appointment of Advisory Board and Central Advisory Board

under Minimum Wages Act, 1948. [8]

(B) State composition, duties and rights of the Competition
Commission of India as per Competition Act, 2002. [8]

Or

(A) State information about ‘Current’ and ‘Capital’ transaction as

per Foreign Exchange and Management Act, 1999. [8]

(B) State the duties of Certifying Surgeon under the Factories

Act, 1948. [8]

4, Explain provisions regarding ‘Safety of Workers’ as per Factories
Act, 1948. [16]

5. Write short notes (any two) : [16]
(A) Problems of application of Special Economic Zone Act,

2005.

Composition, working and powers of Medical Benefit Council
(Employees State Insurance Act, 1948)

Role of Securities and Exchange Board of India
(SEBID).

Time of payment of wages and Medium of payment of wages

(Payment of Wages Act, 1936).



(TS ETUI)
q% : o\ A THU T : 80
o :— (i) WA WA STeRdseh 3.
(i) & YA HHAE O SR
(iii) HSIEIS Yoo SUSH UGl g,

1. FHI T 97 FRET 19489 WY 9 A 9. wHE U fam

FHEE, 1948 Tldl Wew@r=Al el dieddd @ [16]

fa ~

2. Whg fafa o &EE, 1999 <98 Wihd dod fahul, @I

qrefeul ST e <O A SEded a9 [16]
fepar

FHaRl afgs frafe feft 9 s Raeten ®EET, 1952 J9R FHERt 9fasy

frafe fAeft A=t aferse @i [16]

3. (31 fFAM I FIcT™ WEI AR, ThAM a9 HERT 1948 TIR FRTR

e 9 hisd HealMR HEw ATAl AHUGhI S&dedl Wgal @M. [8]
(9) YR, 2002 A< YRAE Wl AERMEl &A1, Sasd AT

STYHR T [8]
feRar

(31) Wika fafma Zeeemma ®EET, 1999 J8R =0Q ST vieae @

FIeriEEd  gifedl 9. [8]

(9) SREFE FEET, 1948 TR @ QU SEfha SAfeepr=aret sded

. [8]

4. HRETAET HIART, 1948 TR HRETANIA  RIATRE GRIAAdeTadea  aidal
. [16]

[4269]-308 3 P.T.O.



5. derm fou faw (Fo@ @F) e [16]
(21) fouiw onféfer & wTacT, 2005 () =T STHASSIOUN e THE
.
(&) JEfry avEfadEr =, w9 IfYUeR (RHEr Tsg fodr e,
1948).
(%) gfager onfr fafa deeret (Fef)  ofie
(8) o QUAMEN hlaadl Ul HiegH (Sdd d WS hIEEl, 1936).
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Total No. of Questions—35] [Total No. of Printed Pages—3

Seat

No. [4269]-309

T.Y. B.Com. EXAMINATION, 2012
CO-OPERATION AND RURAL DEVELOPMENT
Paper II
(Co-operation Management and Administration)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Co-operative Management. Explain the principles of Co-operative

Management. [16]

2. Enumerate the need and significance of professionalisation of
Management in co-operatives. [16]

Or
Explain the organisational structure of Co-operative Department in

Maharashtra. [16]

3. (a¢) Write a note on Human Relationship in Co-operatives. [8]
(b) Explain the importance of Decision-making in Co-operative

Management. [8]

P.T.O.



Or
(a) Write a note on Accounting in Co-operatives. [8]

(b) State the objectives of Co-operative Audit. [8]

4, Define Co-operative Audit. Enumerate the various/different types of

Co-operative Audit in detail. [16]

5. Answer the following questions (any two) : [16]
(a) Explain the nature of financial management of co-operatives.
(b) Describe the responsibilities of Co-operative Auditor.
(¢c) Write a note on Investment Policy of Co-operative Institution.

(d) State the characteristics of Financial Planning in Co-operatives.

(AOE ®UI)

q% : o\ A TEHUT TOT ;80
o :— (i) §d W diefau eRds R
(i) SoEhel® 3w ol U eFifad.

1. TEhTl HORAYATE] Al 9. ekl AT dcd W% 4. [16]

2, TehId SFALATYATA]  SATIHIh (R0 AHSS TS 37U Heged fazre
. [16]

[4269]-309 2



(fenam)

TERIS® Fehil faune TeeAds WEY W & [16]

3. (3 vEHNmHe AFE-waYd Ier fou fomn 8]

() HEhNl I Fol-gdde 9o Hed e [8]
(fenam)

() UePRNe o@md JaR faq fom 8]

(9) wehll o@ RS Il HL (8]

4, FEHT D@ feTum=N =l |, Rt Sl Ifiiems A939

fafgy geR Hfow® faze = [16]

5. WP WARN SW AW (SRl SF) [16]

(37) wearl fofa o= @ Y W= &
(9) HEh/ @l gReehr=ar Seeera faze .
(9) ¥Rl dee ‘Taarsw dRe’ e foa fem
(3) Uekhnmeie fafva feemmt afimesr @mm.
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Total No. of Questions—9] [Total No. of Printed Pages—4+2

Seat

T.Y. B.Com. EXAMINATION, 2012
COST AND WORKS ACCOUNTING
Paper II

(Overheads and Methods of Costing)

(2008 PATTERN)
Time : Three Hours Maximum Marks

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. (A) State whether the following statements are True or False :

No. [4269]-310

: 80

[5]

(i) Indirect costs cannot be identified with a particular cost

unit.

(i) Depreciation on plant and machinery changes only with

a change in capacity.

(iii) Variable overhead cost is a period cost.

(iv) In case of most of the contracts entire payment is made

in advance.

(v) In process costing each process is treated as a separate

cost centre.

P.T.O.



(B) Fill in the blanks :

[5]

(T) e overheads do not vary in the same proportion

in which output changes.

(€77 of overheads means charging of overheads to

(€77 1 absorption rates generally result in under

or over-absorption of overheads.

(@v) Inecceneeeiee, costing, the production is made always against

customer’s specifications.

(v) Under the.........cceeunnnnnnnn. clause the contract price is increased

for a given increase in the prices of inputs.

What do you mean by ‘Job Costing’ ? State its features. Distinguish

between job costing and contract costing.

Or

[15]

What do you mean by under-absorption and over-absorption of

overheads ? What are its reasons ? Describe methods of accounting

treatment for under or over-absorbed overheads.

Write short notes on (any three) :

(a) Escalation and De-escalation Clause

(b) Features of Process Costing

(¢c) Normal Loss and Abnormal Loss in Process Costing
(d) Cost plus contracts

(e) Features and Applications of Operating Costing.

[4269]-310 2
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4. (A)

Advani Engineering Company has 3 production departments and

2 service departments. In March 2012, the departmental expenses

were as follows :

Production Departments Rs.
A 80,000
B 65,000
C 70,000
Total = 2,15,000
Service Departments Rs.
E 20,000
F 30,000
Total = 50,000

The service department expenses are charged out on a percentage

basis as follows :

Particulars A B C E F

Expenses of Dept. E 20%  25%  35% — 20%

Expenses of Dept. F 25%  25%  40%  10% —

[4269]-310

Prepare a statement showing the apportionment of service

department expenses to production departments as per :
(i) Repeated Distribution Method; and

(i) Simultaneous Equation Method. [15]

3 P.T.O.



(B)

5. (A

[4269]-310

From the following data, calculate the cost per km. of a

vehicle :
Particulars
Cost of vehicle
Road licence fee per year
Insurance charges per year
Garage rent per year
Driver’s wages per month
Cost of diesel per litre
kms. per litre = 8
Proportionate charges for tyre and

maintenance per km.

Estimated life of vehicle = 1,50,000 kms.

Annual km (estimated) = 6,000 kms.

[5]

Rs.
3,00,000
10,000
2,000
12,000
4,000

48

Amar Builders undertook a contract for Rs. 10,00,000. The
following expenses were incurred for this contract during the

year 2011-12 :

Particulars
Material sent to site
Direct wages paid
Chargeable expenses
Plant installed

General expenses

Establishment charges

Rs.
3,10,000
2,80,000

60,000
1,00,000
90,000
70,000



(B)

[4269]-310

The architect of contractee certified work of Rs. 6,00,000 at
the end of year. The cost of work uncertified was Rs. 50,000
on that date. The material and plant were at site of Rs. 30,000

and Rs. 60,000 respectively at the end of the year.

You are required to prepare Contract Account and show how
these transactions will appear in the Balance Sheet of the

contractor at the end of the year. [10]

An article passes through 3 processes of manufacture. From
the following figures show the cost of each of the three processes

during the month of March, 2012 :

Particulars Process-1 Process-2 Process-3
Material used (Rs.) 15,000 5,000 2,000
Labour (Rs.) 8,000 20,000 6,000
Direct Expenses (Rs.) 2,600 7,200 2,500

The indirect expenses of Rs. 8,500 shall be apportioned on
the basis of Labour Cost. No account need be taken of stocks
in hand and work-in-progress at the beginning and close of
the month. The articles produced during the month

were 240. [10]

5 P.T.O.



(B)

[4269]-310

Or

From the following data relating to two different vehicles

A and B, compute the cost per running km :

Particulars

Vehicle ‘A’

Vehicle ‘B’

Kms. Run (annual)
Cost of vehicle (Rs.)
Road licence annual (Rs.)
Insurance annual (Rs.)
Garage rent annual (Rs.)
Supervision and salaries
annual (Rs.)
Driver’s wages per hour (Rs.)
Cost of diesel per litre (Rs.)
Repairs and maintenance
per km. (Rs.)
Tyre allocation per km. (Rs.)
Km. per litre

Estimated life

15,000
2,50,000
7,500
7,000

6,000

12,000
30

30

16.50
8
20 km.

1,00,000 km.

6,000
1,50,000
7,500
4,000

5,000

12,000
30

30

20
6
15 km.

75,000 km.

Interest on cost of vehicles is to be charged at 5% p.a. The

vehicles run 20 km. per hour on an average.

[10]



Total No.

of Questions—35] [Total No. of Printed Pages—8

Seat
No.

[4269]-311

Time :

N.B. :—

1. @A)

Three
(@)
(i1)
(iii)
(iv)

T.Y. B.Com. EXAMINATION, 2012
BUSINESS STATISTICS
Paper II

(2008 PATTERN)
Hours Maximum Marks : 80
All questions are compulsory.
Figures to the right indicate full marks.
Use of calculator and statistical tables is allowed.

Symbols and abbreviations have their usual meanings.

Attempt any four of the following : [2 each]

(@)
(b)
(c)
(d)

(e)

()

State relationship between P, and "C,. Also find n if
nC,_g = 45.

Define Expectation and variance of discrete random variable.
State additive property of Normal Distribution.

Write down the rejection criteria for Z test if level of
significance is 5%.

Let X~N(1, 1) and Y~N(1, 4), find the distribution of
X-3Y.

State whether each of the following statements is True
a False :

(1) Type I error is rejecting H;, when it is true.

(i1) Large sample tests are used when n less than 30.

P.T.O.



(B)

[4269]-311

Attempt any o of the following : [6 each]

(@)

(b)

(c)

Two unbiased dice are thrown simultaneously. Find the
probability of getting :

(i) sum of number on die is equal to 8

(ii) sum of number on die is even

(iiz) sum of number on die is perfect square.

A random variable X has the following probability

distribution :
X P(X)
0 k
1 3k
2 5k
3 Tk
4 Ok
5 11%
6 13%

(i) Find the value of £

@) PX = 2)

(iti) PO < X < 5).
The weekly wages of 1000 workers are normally distributed
with mean of Rs. 70 and S.D. of Rs. 5. Estimate the
number of workers whose weekly wages will be :
(i) More than Rs. 75
(i) Less than Rs. 63
(iii) Between Rs. 70 and Rs. 72.
2



2. Attempt any #fwo of the following : [8 each]

(a) Explain the following terms :

(i)  Exhaustive events

(i) Null Hypothesis

(itzi) Level of Significance

(iv) Mutually Exclusive events.

(b) The marks scored by the students in a certain examination
are normally distributed. If 6.68% of the students obtain 70
or more marks and 15.87% obtain less than 45 marks, find
the mean and standard deviation of marks obtained by the
students.

(¢c) A dealer supplies the following information with respect to

a product :

3 monthly demand — 2500

Ordering cost — Rs. 10 per order
Price per unit — Rs. 20

Inventory carrying cost —— 20%

Back order cost — 25%

Determine :

(i) Optimal order quantity
(ii) Optimal back order quantity
(ii1) Optimal number of orders

(zv) Total cost.

[4269]-311 3 P.T.O.



3. Attempt any #fwwo of the following :

(@)

(b)

[4269]-311

(2)

(i1)

(2)

(i1)

A sample of 256 bricks has mean weight of 2.12 kg with
S.D. of 560 gm. Test the hypothesis that the sample
comes from a population with mean wt of 2 kg. Use
5% l.o.s. [4]
A certain stimulus is administrated to each of 12 patients
resulted in the following increase in blood pressure :
5 2,8, -1, 3, 0, -2, 1, 5, 0, 4, 6.

Can it be concluded that the administration of the stimulus
in general will be accompanied by increase in the blood
pressure ? Use 5% l.o.s. [4]
State relationship between Binomial and Normal distri-
bution. [2]
Suppose that the number of telephone calls coming into
a telephone exchange between 10 A.M. and 11 A.M. say,
X4, is a random variable with Poisson distribution with
parameter 2. Similarly the number of calls arriving between
11 A M. and 12 noon say, X, has a Poisson distribution
with parameter 6. If X; and X, are idependent, what
is the probability that more than 5 calls come in between

10 AM. and 12 noon ? [6]
4



(c)

A fair coin is tossed thrice. Let X denote the number of heads

and Y denote the number of tails : [8]

Obtain :

(2)

(i1)

Joint probability distribution of X and Y

Marginal probability distribution of X and Y

(iizr) Conditional probability distribution of Y given X = 0.

4, Attempt any o of the following :

(@)

[4269]-311

(2)

(i1)

Among 64 offsprings of a certain cross between guinea
pigs 34 were red, 10 were black, and 20 were white.
According to genetic model these numbers should be in
the ratio 9 : 3 : 4. Are the data consistent with the
model at 5% level of significance ? [4]
Let X and Y be two independent random variables having
normal distribution with parameters (0, 16) and (1, 9)
respectively. Find :

1 PX <Y)

(2 P2X + Y < 3. [4]

5 P.T.O.



(b) (@) A TV dealer finds that the cost of holding a stock for
a week is Rs. 30 and the cost of unit shortage is

Rs. 70. If the probability distribution is as follows : [4]

No. of Units Probability
0 0.05
1 0.1
2 0.2
3 0.25
4 0.2
5 0.15
6 0.05

how many units per week should the dealer order ?
(ii) How many four digit numbers can be formed by using
digits 1, 3, 5, 6, 7, 8 and 9 (no digits should be repeated) ?
How many of these will be greater than 3,000 ? [4]
(¢c) The following data give yield in 20 plots :
11, 27, 26, 24, 23, 19, 12, 29, 17, 21, 21, 25, 20, 13, 15, 14,
19, 20, 20, 23
Write down all possible systematic sample of size 5 and verify

sample mean is unbiased estimator of population mean. [8]

[4269]-311 6



5. Attempt any #fwwo of the following :

(a¢) Two random samples from two normal populations are as

follows :
Sample I Sample II
9 5
11 3
13 4
11 5
15 7
9 5
12 9
14
Test whether the variances are equal at 2% l.o.s. [6]

(b) Fill in the blanks of the following ANOVA tables marked “—” :

Source of Degrees of Sum of Mean sum | Variance
variation Freedom Squares of squares ratio
Between 3 36 — —
Machines

Between — — 6 .
Workers

Error 9 27 — —
Total — —

Test the homogeneity of machine types and workers at

1% l.o.s.

[4269]-311
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(¢c) (@) Write a short note on SRSWOR. [2]
(i1) Using the population 2, 3, 6, 8 and 11, verify that S.E.
of sample mean for SRSWOR is less than SRSWR using

sample size 2. [4]

[4269]-311 8



Total No. of Questions—5] [Total No. of Printed Pages—3
Seat
No. [4269]-312
T.Y. B.Com. EXAMINATION, 2012
BUSINESS ENTREPRENEURSHIP
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(ii) All questions carry equal marks.

1. What is business opportunity ? Describe the various elements considered

in selection of specific product ? [16]

2. State the importance and objectives of business plan. Explain the

factors affecting on selection of suitable form of organisation. [16]

Or

Write notes on : [16]

(@)
(b)

3. (a)
(b)

(@)

(b)

Self-employment Scheme of Government of Maharashtra.

Prime Minister Employment Generation Program.

State role of MITCON in development of Industrial Project.

Describe the functions of Personnel Manager. [16]
Or

Discuss the various schemes of Khadi and Village Industries

Board (KVIB).

Write a note on work of Prakash Ratnaparkhi. [16]

P.T.O.



4, What is Turnaround Strategies ? Explain the various methods
of Turnaround Strategies used in Public and Private Sector

Organisation. [16]

5. Write short notes on (any fwo) : [16]
() National Small Industrial Corporation of India (NSICI)
(b) Importance of Business Networking
(¢) Functions of Financial Manager
(d) Role of SIDBI in sickness problems of business.
(TS TUIR)
q% : o\ A TR T : 80

9

ol :— (i) ®d WA ANEE  sTRd.
(i) ¥E YITAM FAE O S

1. =@ 9 "N wE 7 fafite ol feas #am foera S[e Smom

fafgy wew fore = [16]

~

2. g AN 95 9 3 9FH A a9 GHed YRR A S

TROM HOM Tk T H. [16]
fenar

fewr foar - [16]

(37) UERTE WHRE @I SR ASH

() Yague TR fAETar s

[4269]-312 2



3. () UM Yoy fokmmmed fHesi=il yfFe fore .

(9) WATHET AGEUHE & 9L [16]
fepar

(37) @l 9 UMW U Aol fafay A=l ==l R

(9) YhRl EURE = wEeR fou fomn [16]

4, AT AU TUN w7 HEASe d @A SANG TEeAHEd IHeeTdd

SEUTEIS aqiedl Sl fafgy ggdt Tase &L [16]

5. dfya du fowr (FoeE M) e [16]
(31) YRAE T T U HeHEd
(¥) IIHES Ses fovouuma Hed

o (aV

(&) foaxia o=t .

(8) o ANRUu gaemed fafest (vg.omE.Stafl.em. )= o
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4269]-313

T.Y. B.Com. EXAMINATION, 2012
MARKETING MANAGEMENT
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is marketing management ? Explain the various responsibilities

of marketing manager. [16]

2. Define ‘Market Segmentation’. Explain the benefits and limitations
of market segmentation. [16]

Or
What is consumer behaviour ? Explain the factors influencing of

consumer behaviour. [16]

3. (a) Explain the need of customer satisfaction. [8]

(b) Explain the importance of industrial marketing in India. [8]

P.T.O.



Or
(a) Explain the process creating and expanding consumer
relationship. [8]
(b) Explain the difference between International and Domestic
Marketing. [8]

4, What is retail marketing ? Describe the types of retail units. [16]

5. Write short notes on (any fwo) : [16]
(a) Social responsibilities of marketing manager
(b) Elements of industrial marketing strategy
(c) Recent trends in social marketing
(d) International marketing for developing country.
(TS TUIR)
q% : dF A TR T : 80
ol :— () Wd WA defau oTeRdE  SiRd.
(i) 3IEwele 3 T Ul T[0T SFifaam.
({ii) WSWHIE T TUSH WIAUCART UgTEl.

1. fIqUE JaET WU S 2 [auuE SHekeush=Al fafay Seee T
. [16]

2. INIRUS  fTaMTieRum=l e &1, INRuS f[OYrieume wEe 9 "l 0

. [16]
fepar

UTeh Idd IS Hh1I 7 YIEHRT=AT IdAre YUTd ISR Sesh I

. [16]

3. (37) UeHh THIYFR] RS W H. [8]

(9) 9Rddie 3Tenfie fauoHAR Aga ¥ &4 [8]
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ferar
(37) TRk Hey fAio wvaEl J defauamt gfear T . [8]

(9) AW 9 @3l Ui die we e & 8]

N S

4. fFiepi fasmt B w1 ? fathles fawl Sge TR R+ [16]

5. diedE du fow (FoEE @m) [16]
(37) fouom =Hawamaer=n 9IS STereeEAl
(F) oiEifes fauoe SJEEre wew

(%) HHEISe foaquEdie T gdae

() fowromiic GTMEE oarse foquH.
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4269]-314

T.Y. B.Com. EXAMINATION, 2012
AGRICULTURAL AND INDUSTRIAL ECONOMICS
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State and explain role of agriculture in Indian Economy. [16]
2. Critically examine land reforms in India. [16]
Or

State and explain causes of unemployment in India. [16]

3. Answer in brief :

(A) Problems of small scale industry in India. [8]

(B) Sources of Industrial Finance in India. [8]
Or

(A) Functions of UTI. [8]

(B) Labour and social security. [8]

P.T.O.



4, State and explain arguments for and against privatization of public

enterprises. [16]

5. Write short notes on (any fwo) : [16]

(1) Functions of IDBI

(2) Industrial relations in India

(3) Importance of Sugar Industries

(4) Problems of power generation industries.

(AOE ®UI)
q% : dF A TR T : 80
o :— () |d WA SEEdd IR
(i) 3Ihele 3 YO U SIifodr.

1. 9dE sdoedde  Ider gfier 9 9 fRr & [16]
feRar

2. YNANIe SHAYYRUE {ehicqss IR0 . [16]
feRar

IRAN® SREl ®RU |Rm 9 faRe & [16]

3. JIesd I Tl

(1) YRANe ST FHEI 8]

(9) YRdde siEfe foaaea™ g [8]
feRar

(31) e T wE. [8]

(9) <hIIR o HHISh AT [8]
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4., eSS IUHHTAT GeHRTAl gRgume 9 foliaa wvan AU geritarg

T 9 foEe = [16]

5. 9w du o' (FveEE @|) e [16]
(1) 9T eienfres fawm@ sSea w1
(2) vAre SiEnfes deiy

(3) WX PN HEd

(l‘(\ [a GBa haN

(4) ISTHHIA ST GHE
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4269]-

T.Y. B.Com. EXAMINATION, 2012
DEFENCE BUDGETING, FINANCE AND
MANAGEMENT
Paper II
(Defence Production and Management in India)

(2008 PATTERN)
Time : Three Hours Maximum Marks
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) :
(1) What do you mean by Defence Budget ?
(2) Write the meaning of Defence Management.
(3) Define war potential.
(4) Write the long form of DPSU.
(5)  Define war.
(6) What do you mean by Logistics Planning ?
(7) State any fwo methods of ‘War Finance’.

(8) State the meaning of ‘Mobilisation of Resources’.

315

: 80

[20]

P.T.O.



9)

(10)
(11)
(12)

(13)

(D
(2)
(3)
(4)

(D
(2)
(3)
(4)

(D
(2)
(3)
(4)
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Write the meaning of Political Aspects of Defence.
Define Industrial Policy.

Define ‘Logistics Management’.

Write any two functions of Defence Management.

Define Economic Warfare.

Answer in 50 words each (any two) : [10]

Explain role of DPSU in defence production.
Discuss weapons procurement policies in India since 1947.
Write a note on Logistics Planning for Defence.

Explain the concept of Development.

Answer in 180 words each (any two) : [20]

Evaluate role of private sector in Defence Production.
Highlight the contrast between ‘Defence Vs. Development’.
Analyse the causes of increasing India’s defence expenditure.

Explain in brief ‘Structure of Defence Budget’.

Answer in 300 words each (any {wo) : [30]

Write a note on decision making process in Armed Forces.
Explain problems of Arms production in India.
Discuss organisation of Defence Management in India.

Explain economic aspects of Defence Production in India.



(WS ®aia)

q% : o\ A TR T : 80
o :— () WA WA Hisfau ofemds .
(i) 3IEhele 37 YO U SFifodr.

1. SRR
(1)
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(9)
(10)
(11)
(12)
(13)

2. TR
(1)
(2)

(3)
(4)
[4269]-315

A ITEd S T (HIRT <T@ : [20]

T SN WS S 2

e Fererad a1d femn
JSHHAT ATl 1.
fedimaga o weq fom
‘g e @

N o

qedl FEAI  ASH WS % ?

AN ERANS ®OEE g ISl TS
AdereRH e REdad s o

WS TS Yo e femn

3iEfieh R =amen <.

WE3l ARSI

TEIT AT hI0del g s ol
sTfYfeh  ggugdiel SATEA <l

50 I=M Sck T (HURE ]F) [10]

WU IARAS  Fesieh  &ure yfyhr T T

1947 TR ITESTEl Yddl hvarelela=al A=Al GRonfast ==
B

‘IJUETEde qXEel HFAEIA  fEeE’ AR fogw fe.

famm=l GHheudl T FHA.

3 P.T.O.



3. TR 150 I SRk o (R @) [20]

(1) TR IOEAS @erf &aren fyes JedHed &

(2) T onfur fasRrg a1 foenyder YhRETENd <.

(3) YRAET WEG ded S EEren CCeRond ! forowu .

(4) ‘TR SNSRIl T IS TS .

4. R 300 I Sc oM (HUEE Q) : [30]
(1) WA IARode g Svaet ystan aer feau o

(2) YRAA® IS SAEAEEded THS T H.

(3) YRAdie S HOEAATT eed IAeled odi R

(4) YOG W ORI offHE Iy TR Fw
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4269]-316

T.Y. B.Com. EXAMINATION, 2012
INSURANCE, TRANSPORT AND TOURISM
Paper II
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Describe in detail the claim settlement procedure of Life

Insurance. [16]

2. Enumerate the comparative study of Private Insurance Companies
and Government controlled Insurance Companies.

Or

Distinguish between Nomination and Assignment of Insurance. [16]

3. (A) Explain the role of insurance agent in insurance business.
(B) Write a brief note on Life Insurance Corporation Act, 1956.

P.T.O.



Or

(A) Write a note on Saving Plans of Insurance Business.

(B) Explain the main provisions of Insurance Act, 1938. [16]

4, Define General Insurance ? Explain in detail the various types of

claims of General Insurance. [16]

5. Answer the following questions in brief (any two) : [16]
(1) Enumerate the Accidental benefits of General Insurance Contract
(2) Explain in brief claim settlement procedure of General Insurance.
(3) Write a brief note on Surrender of Policies.

(4) Explain the methods of payment of General Insurance.

(W& T UIR)

q% : dF A THU T : 80
o :— () WA WA Hisfau ofemds .
(i) Sedihele Ik qu o i,

< o

1. gfHwrEt Jam wuE  fHefauarl srEdYgd e &, fome w0 [16]

o A

2. @t fam &u=n et WeRl fEfta fam ween aen goes ST

fore &+

fepar

IREAR (Nomination) S0 JE@R T (S=H95) (Assignment) IS Hih
W H. [16]
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3. (1) fom wowmEm, fam wsa (wfafast) =t gfFer sw= &
() 19567 AGfGHT HeMSes wHEcAeR dieda feu fom.
ferar

(21) fom =eumrde, s=d ASAT (Saving plans) IR fau fomr

() 1938 =1 faA1 hECH=Al Y@ WG TR H [16]

4., W& WHRU foEEl @ W[, §6 9eRn faede fafay geRe <@

giat W . [16]
5. WOG TRl Gedd Sl o (RUdEl Q) [16]
(1) Hd YR fam sdie 98t BP9 (Accidental Benefits) foRTe

.

< o

(2) & WYRU famreEl JeaH 9OR Hefauarl sriYgd oiedd T

.
(3) USRI 9ed  (Surrender of Policies) IeR e feg ol
(4) Hd TyRo foemt 3§ o9 GEUdie 9gdl T .
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4269]-317

T.Y. B.Com. EXAMINATION, 2012
COMPUTER APPLICATION
(Paper II)
(RDBMS, Networking, Internet and E-commerce)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.

1. (A) Consider the following table and solve the following queries

(any four) : [8]

Employee (eno, ename, eadd, esal, edesi)

(i) List the employee name whose salary is greater than
8000.

(ii) List the employee details whose name start with ‘K.

(iiz) List the employee number in ascending order.

(iv) List the employee name and address whose designation
is ‘Clerk’.

(v) List the employee details whose address is ‘Nagar’ or

salary is 7000.

P.T.O.



(B) Write syntax and use of the following commands (any
four) [8]
(i) Update
(i1) Revoke
(zit) Alter
(iv) Create
(v)  Desc.

2. Attempt any four of the following : [16]
(i) What are limitations of file processing system ?
(ii) Write a note on procedure used in PL/SQL.
(i) What is Internet ? Explain its different services.
(iv) Explain the Financial EDI.
(v) Explain Modified Water Model in Web process.

3. Attempt any four of the following : [16]
(i) Explain Entity Relationship Diagram.
(ii) Explain the advantages of RDBMS.
(iiz) Explain Computer Network with its goals.
(iv) Explain the Secure Electronic Transaction (SET).

(v) Write a note on Button and Icon.

4, Attempt any four of the following : [16]
(i) Explain Order and Unordered list tag with example.
(ii) Explain the role of E-commerce.
(iit) Write a short note on Page Type.
(iv) Explain While statement in PL/SQL with example.
(v) Write a note on RDBMS.
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5. Attempt any four of the following : [16]

(i) Explain the different stages of SET (Secure Electronic
Transaction).

(iz) What are the uses of Entrance and Exit Page in Web ?

(iit) Write a note on Cyber Law.
(iv) Explain different user of DBMS.

(v) Write an HTML to display the following information.

Statewise Population Details

State Population
Delhi 1991 100000
2001 200000
2011 300000
Kashmir 1991 20000
2001 30000
2011 40000
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Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4269]-318

T.Y. B.Com. EXAMINATION, 2012
BUSINESS ADMINISTRATION
Paper III
(Finance, Production and Operations Functions)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State the various factors influencing the capital structure. [14]

2. Define Finance. Explain the nature and importance of Finance. [14]
Or

Explain the types of preference shares and its characteristics.

3. (A) Explain the steps in Financial Planning. [7]

(B) Explain the need of computer in Material Management. [7]

Or
(A) Explain the importance of capital market. [7]
(B) Describe the principles of supply chain management. [7]

P.T.O.



4, What is production planning ? Explain objectives and importance

of Production Planning. [14]

5. Write short notes on (any fwo) : [14]
(a) Techniques of plant layout
(b) Functions of Material Handling
(¢c) Importance of Scheduling
(d) Advantages of (JIT) Just in Time Manufacturing.

6. “Investment in capital market is an art and science.” Discuss. [10]

(TS TUIR)
q% : o\ A THU T : 80
ol :— () Wd WA defau oTeRdE  STRd.
(i) wEEe siF o T Q.
({ii) WSWHIE T SUSH WIAUCART UgTel.

1. 9eds E@oR qiomy wom fafay w2 @ [14]
2. facel = 1. facde ey 9 Hgw W i [14]
ferar

USHE YNTE TR o o TR .

3. () faaa fESHMe a&=n T w3 [7]

(9) Gl oI U RS TR R [7]
fenar

(31) WETe dNRM Hed o & [7]

(q) Y& e Rl dcd faRe & [7]
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o o n o

-~

e TIsH w7 IR st e 9 "ed T &7 [14]

dqerma four for (@ @M)

(31) RS A TR FIOA= a5

~¢

(9) WHHA i<l s

(F) HHIIIARE HeEd

~

(8) T W & JIT) ST Yfhad wEe.

[14]

“Yieae ISR T[AaUE O & T kel d I SR’ == &a. [10]
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Total No. of Questions—6] [Total No. of Printed Pages—3

o [4269]-319
T.Y. B.Com. EXAMINATION, 2012
BANKING AND FINANCE
Special Paper III
(Banking Law and Practice in India)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the Banking Regulation Act, 1949 and how far it is applicable

to the Co-operative Bank. [14]

2. Explain briefly the modes of creating charges by the bank. [14]
Or

Explain the duties and rights of the collecting banker.

3. (A) What is Negotiable Instrument ? Explain the characteristics
of a Negotiable Instrument. [7]
(B) Explain the precautions to be taken by the banker while giving

loans. [7]

P.T.O.



Or
(A) Explain the powers of RBI as laid down under Banking Regulation
Act, 1949. [7]
(B) What are the non-legal measures for recovery of bank

loans ? [7]

4, What is project appraisal ? Discuss the steps involved in appraisal

of the project. [14]

5. Write short notes on (any fwo) : [14]
(a) Types of mortgage
(b) Implication of ‘Lok Adalat’
(c) Banker as ‘Trustee’ and an ‘Agent’
(d) Payment of ‘Forged Cheque’.
6. Discuss critically the changing role of Banking sector under

globalization. [10]

(TS TUIR)
q% : dF A TR T : 80
ol :— (i) Wd WA ANEE  sTRd.
(i) woEEre siF o T Q.

1. dfk7 oA &R, 1949 TR $%d WehRl dhEl O |l @ Bl d
W H. [14]

2. S wHOvR i woaren fafay ugdr oiesd T &AL [14]
ferar

fal

YS! dhdl haed STU TR faRIE WA
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() ToH THUIS WUN HE ? IoH cEudeTd] dfiTse TS
5. [7]

(9) Wb HS SAMl HIVGIUC] FHIBS AT d TS . [7]
ferar

(31) Wfh 1w wEeTed, 1949 YR g dahe oo Afber T

EX [7]

(9) wehohgd Heagal S hedl SNl fIR-FRGRR SURESH T

EX [7]

gehed HOIHTd US| A 7 Yehed HOIHIOAM GO RO SISl ==
. [14]

dqerma four foar (@ @) [14]

(31) TREUTE YR

(F) o TSI HeEd
(@) % s ‘foraw’ enfor ‘Hemy’
(Y) oFEe FRITE  SH.

[ N o

SR SR LU=l Wfsherd SRl &= scocl el femreaes ==t . [10]
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Total No. of Questions—6] [Total No. of Printed Pages—7

Seat

No. [4269]-320

T.Y. B.Com. EXAMINATION, 2012
BUSINESS LAWS AND PRACTICES
Special Paper III
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. Explain the meaning, merits and demerits of Direct and Indirect

taxes. [14]

2. Explain the concept ‘“Transaction value’. What are the specific exclusions
from transaction value ? [14]
Or
Explain the following terms (any two) :
(@) Objectives of Central Excise Act
(b) Types of Assessment of Service Tax
(¢c) Meaning of Baggage
(d) Clearance of Exported Goods.
P.T.O.



3. A

(B)

[4269]-320

Compute the assessable value of excisable goods, from the following

information : [7]

(D)
(2)
(3)
(4)
(5)
(6)
(7)

Rs.
Cum-duty wholesale price including VAT Rs. 4,000 60,000

Normal secondary packing cost 4,000
Cost of special secondary packing 6,000
Cost of durable and returnable packing 6,000
Freight 3,000
Insurance on Freight 800
Trade Discount (Normal Practice) 4,000

Rate of Excise duty 10%

Education cess on Excise duty 3%

State the reasons for admissibility or the otherwise of the

deductions.

Determine the Transaction value and Excise duty payable from

the following information : [7]
Rs.
Total Invoice Price (Depot) 18,000

The Invoice Price includes the following :

State VAT 1,000
Octroi 200
Insurance from factory to depot 100
Freight from factory to depot 700

Rate of basic excise duty—16% ad valorem.

Education cess @ 3% on Excise duty.

2



4, Mr. X’ a registered dealer purchased 11,000 kgs of output on
which VAT paid at 3% was Rs. 3,000. He manufactured 10,000 kgs.
of finished products from the inputs. The process loss was

1,000 kgs. [14]

The final products was sold at uniform price of Rs. 10 per kg as

follows :

(1) Goods sold within state—4,000 kgs.

(2) Goods sold in Inter-state sale against C form—2,500 kgs.

(3) Goods sent on stock transfer to consignment agent outside

the state—2,000 kgs.

(4) Goods sold to government department outside the state—

1,500 kgs.

There was no opening or closing stock of inputs, WIP or finished

product. The state VAT rate on finished product is 12.5%.

Calculate liability of VAT, if 2,000 kgs were exported (and not stock
transfer). What will be tax liability ?

Or

What is ‘VAT’ ? Explain the provisions under the Maharashtra VAT
Act, 2002 regarding grant of set-off. [14]

[4269]-320 3 P.T.O.



5. Write short notes on (any fwo) : [14]
(1) Objects of Custom Duty Act
(2)  Courier Service
(3) Shipping Bill and Bill of Export

(4) Salient features of levy of Service Tax.

6. Explain the procedure for ‘Payment of Service Tax’. [10]

(WS TUIaR)
q% : o\ A THU T : 80

ol :— (i) Wd WA ANEE  sTRd.
(i) SoEhele 3 YUl U TFiferdrd.

[o

(iii) hoHR I A IS

(jv) USHIHE W TS UIAAAh] TRME.

1. ‘Jg R U suEy U WUN % ? O R E WEk-de TR

EX [14]

2. 'HOER oA Heheddl TR Y. AER oA TRHIGTHI0 STl SOl
arel R [14]
fepar

ol Hoheddl T &0 (HUdEl 9F)

(31) HfgF I I[oh wEE 3R
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()

()

(®)

3. (37)

()
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Tl HISTHRUE  YhK

sl 319 (meaning of baggage)

o (o
[

(Fafd drer= gerdl kol

EAe  Hifgdleed 3caled  I[esh, AT HIGTH  HISATRNUT oI
$@l [7]
T.

.

(1) SUEA I[ooh hHg = fdfsh fhAd (4,000 .

TeIafdd T SIaqd) 60,000
(2) WM g@EH HiYvi @ 4,000
(3) fomiw gz=ad @yl @ 6,000
(4) feFrs onf1 wa @ I IHUTAT AT G 6,000
(5) e 3,000
(6) wrewreies fom 800
(7) =AU g2 (9 HERR) 4,000

Hd RT3k o 10%

U Fohlele R1am T 3%

gSgel A hI0grEl fohal T el RO I

Eole Hifgdoed ‘SRR Hod' Ul ‘9¥ Iced IPesh | TfEEd

wq [7]
B,

TRU ek fRud () 18,000
5 P.T.O.



4.

dieer foradia @rele aet ofdyd sTed

T Hogatdd & 1,000
STehTd 200
FRETAIRA  Arerqdaan o 100
FRETAARA  HERTHdd 9re 700

ST ol Hod & 16%  (HedmeX  STid)

Feo TR I (AR I[OHIER).

‘g’ T Acuiied MK SA WM e SARAMET 11,000 fwenm
hedl HoE BREl hod 6. el Fp T T 3,000 Heddidd

o N o faSllaY

ool AR, & HEUET M 10,000 fRewm=n fafwdara Ao 3deH

~

hoo IR, Idfed HAG sHfIdHT 1,000 fherm=n gfhraayg diel Ao

R [14]

3catfed /i 10 ¥9d 9fd fRonm gam fafe woer sigd @t fafe géegHm
Hhool 3R :

(1) TSIad Aot fafse—4,000 feenm

(2) H-FRETER AT Aot fafe—2,500 feenm

(3) TR YUUdHEal Uedodl He—2,000 Ther|

(4) THER WHRel Ao fafe—1,500 feon™

MRS AR 37fur 3R "o fTooe ARL. d99 Ufedd AHcer ST

IR Hod HIG Q@le @l Idfed AR T Jodafdd wuen ¢ 12.5%.
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o Hifedr=a MER Yeaafdd ®% HE. aie Hos! 2,000 fRonm wremt
frafd ®od R (Roow W = woel @)

o N

JU® Hiigd=ar ATgR i ‘&)’ = Hcadl wlel.

fepar

VAT RIS % ? HeRISE Jodaidd Y, 2002 SIdiid asiae! SRS aeqar=

AT H. [14]

5. dieqa four fogr (o @F) [14]

(1) SE ok I 3
(2) @84? T (Courier Service)
(3) RIS gEdt emfur frafdt=l  uredl

(4) St a1 A God AR

6. T W INYARN HETSA TR H. [10]
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Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4269]-321

T.Y. B.Com. EXAMINATION, 2012
CO-OPERATION AND RURAL DEVELOPMENT
Paper III
(Co-operative Marketing Management)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Marketing Research. Explain the scope and need of Marketing
Research in co-operatives. [14]

2. Define Marketing. Explain the objectives and elements of marketing. [14]
Or

Define Co-operative Marketing. Explain the different types of
Co-operative Marketing.

3. (a¢) Write a brief note on Poultry Co-operatives.
(b) Explain the advantages of Wholesale Co-operative Store.
Or

(a) Describe the objectives of The Agricultural Produce Marketing
(Development and Regulation) Act, 2003.

(b) Write a brief note on Co-operative Service Marketing [14]

P.T.O.



4, Describe in detail the functions and problems of Agricultural Produce
Market Committee. [14]

5. Answer the following questions (any two) : [14]

(a) Describe the objectives of NAFED (National Agricultural
Co-operative Marketing Federation of India Ltd.).

(b) Write a note on Agricultural Co-operative Processing.
(c) Explain the factors influencing marketing strategy of co-operatives.

(d) Describe the main provisions of Agricultural Produce Market
(Regulation) Act, 1963.

6. Explain the marketing strategy of co-operatives for Exporting Agricultural
Produce. [10]

(TS TUIR)

q% : dE A TR T : 80
o :— () Wd WA el eEds SR
(i) ISehele 3 qul O <Fifaar.

1. foUom Wil =ae 9rd, 9ehRd faqoe SEieEmel S ot IR
e H. [14]

2. fauoAmn e W[, fouvEe 3R o Yew e wa [14]
fepar

Tl fauoArET e §FH, §ehil fIuuHe e e JRR TR &
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6.

(37) ‘FEhRI-HFRe Uod' TEA IR oedd fou fomn

() HSH-Gehll TP FEE TR R
fepar
(31) 2003 =q HfH I deR (foe™m o famras) wEcEr Sfes

fere =

() ‘Hewll Ga fauum' IR drewma fou fomn [14]
$N Iq- dNR AfEdEl S o gHen gfaeR e &L [14]
GOe ARl WA (HUhE dF) [14]

(31) T®edi (NAFED) 3w foRIE .

() ‘"Heert Hf gfwan =’ AR feu fomrn

(%) HEhr=Al fIU0H SgETEIeR e UIEUR Heeh T h.

(8) 1963 = H¥ I R (TTIHEAIHE) FESHA THE el 7T
.

FH I frfderdt seoe WewrEl fauum e W w4, [10]
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Total No. of Questions—9] [Total No. of Printed Pages—4+2

Seat

No. [4269]-322

T.Y. B.Com. EXAMINATION, 2012

COST AND WORKS ACCOUNTING
Paper III
(Costing Technique and Cost Audit)
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator is allowed.

1. (A) Fill in the blanks (any five) : [5]

(z) When actual cost incurred deviates from the standard cost
set, the difference is termed as........cccoovvviriiinnnnnn.. .

(z1) The difference between actual sales and sales at break-
even point is known as..........cccceeeeeeiinnes .

(iiz) When selling price of the product is fixed first and cost
price is adjusted accordingly, the technique is known
AS.iiiiiiiiieee e .

(iv) Interfirm comparison makes possible the fullest utilisation
of available.............cc..cooeen. .

(v) Uniform costing fixes common.............cccccee. .

(€77 I is a careful planning of the work to be
performed by the auditor.

P.T.O.



(B)

[4269]-322

State whether the following statements are True or False

(any five) : [5]

(i) The production budget is a forecast of sales for the budget

period.
(i) Uniform costing is not possible without interfirm comparison.
(iti) Cost audit and Financial audit means the same thing.
(iv) Contribution is equal to Fixed Cost + Profit.
(v) Target costing facilitates the cost control from the beginning.

(vi) Standard costing is a technique of cost control.

2. Define the term “Budget” and “Budgetary Control”. Explain the
advantages and disadvantages of Budgetary Control. [15]
Or
Define the term “Uniform Costing”. State the scope of application
of uniform costing and advantages of uniform costing system.
3. Write short notes on any three : [15]
(a) Cost Accounting Standards
(b) Appointment of Cost Auditor
(c) Target Costing
(d) Meaning and Scope of Cost Audit
(e) Cost Audit Programme.



4. (A)

[4269]-322

A retailer in garment industry is currently selling 24000 shirts

annually. He supplies the following details for the year ended

31st Dec., 2010 : [15]
Rs.
Selling price per shirt 40
Variable cost per shirt 25
Fixed cost :
Staff salaries for the year 1,20,000
General office cost for the year 80,000
Advertising cost for the year 40,000

As a Cost Accountant you are required to answer the following

each part independently :

(i) Calculate the Break-even Point and Margin of Safety in

sales revenues and units.

(ii) Assume that 20,000 shirts were sold in a year, find out
the net profit of the firm.

(iiz) If it is decided to introduce selling commission of Rs. 3
per shirt, how many shirts would be required to be sold

in a year to earn net profit of Rs. 15,000 ?

(iv) Assuming that for the year 2010, an additional staff salaries
of Rs. 33,000 is anticipated and price of shirt is likely
to be increased by 15%, what should be the Break-even

Point in number of shirts and sales revenues ?

3 P.T.O.



(B) From the following information, calculate : [5]
() Labour rate variance

(b) Labour efficiency variance.

Gross Direct Wages Rs. 3,000
Standard Hours for Production 1600 Hrs.
Standard Rate Per Hour Rs. 1.50
Actual Hours for Production 1500 Hrs.

5. (A) The standard labour component and the actual component engaged

during a week for Job No. 1 are as under : [10]
Particulars Skilled Semi-skilled Unskilled
workers workers workers

Standard No. of workers

in the gang 32 12 6
Standard wage rate

per hour Rs. 3 Rs. 2 Re. 1
Actual No. of workers

employed 28 18 4

Actual wage rate per hour Rs. 4 Rs. 3 Rs. 2
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(B)

During 40 hours working week, the gang produced 1800 standard

labour hours of work. Calculate :
(i) Labour efficiency variance
(i) Labour rate variance
(iiz) Labour mix variance
(iv) Labour cost variance.
From the following information, calculate : [10]
(a) Material price variance
(b) Material usage variance
(c) Material mix variance
(d) Material cost variance
Standard Actual

Qty. Rate Amt. Qty. Rate Amt.

Material Y 5 kg Rs. 2 Rs. 10 4 kg Rs. 5 Rs. 20

Material Y 3 kg Rs. 3 Rs. 9 2 kg Rs. 3 Rs. 6

Material Z 2 kg Rs. 4 Rs. 8 3 kg Rs. 3 Rs. 9

Total

[4269]-322

10 kg Rs. 27 9 kg Rs. 35

5 P.T.O.



Or
From the following information, compute :
(i)  Material cost variance
(ii) Material price variance
(iit) Material usage variance

(tv) Material mix variance

Material Standard Mix Actual Mix
X 40 kg at Rs. 10 per kg 20 kg at Rs. 35 per kg
Y 20 kg at Rs. 20 per kg 10 kg at Rs. 20 per kg
Z 20 kg at Rs. 40 per kg 30 kg at Rs. 30 per kg

[4269]-322 6



Total No. of

Questions—9] [Total No. of Printed Pages—8

Seat
No. [4269]-323
T.Y. B.Com. EXAMINATION, 2012
BUSINESS STATISTICS
Special Paper III
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
(izi) Use of statistical tables and calculator is allowed.
1. (A) Attempt any four of the following : [8]

(a)
(®)
(c)
(d)

Explain the term ‘optimistic time’ in PERT.
What do you mean by expectation of life ?
State Trapezoidal rule for numerical integration.

State whether each of the statements given below is True

a False :

(i) If we put n = 2 in quadrature formula, we get Simpson’s

1/3rd rule.

(i1) Process is always in control with respect to x chart.

P.T.O.



(e) Evaluate :

(fA Obtain the saddle point for the following Game :

Player B

31 2
Player A|6 7 4].

4 3 4

(B) Attempt any #wo of the following : [12]

(a) Solve the following game and also find value of

it :
B
A{—4 5 }
4 -2
(6) Evaluate :
J- Bx—-1) dx
(x-1) 2x+1)-

(¢) Using Trapezoidal rule, evaluate
1
J.O 2 dx

by dividing [0, 1] into five equal parts.
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2. Attempt any #fwwo of the following : [16]

(a) A machine is set to deliver packets of given tensile strength

10 samples of size 5 each were recorded as follows :

Sample No. Mean Range
1 1511 22
2 1508 14
3 1522 1
4 1488 18
5 1519 6
6 1524 1
7 1519 8
8 1504 7
9 1500 8
10 1519 14

Construct control charts for mean (x) and range (R) and comment.

(n =5, Ay = 0577, Dg = 0, Dy, = 2.115)
(b) Explain the following terms :

(i) Opportunity Loss

(i) Decision Tree

(i1i) Chance Causes

(iv) Queue discipline.
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(c)

A snack bar has one cook specialized in preparing one particular
menu. The number of customers requiring that menu appears
to follow Poisson distribution with mean arrival of 15 per hour.
Customers are attended by the cook on first come first served
basis, and they are willing to wait for service if they are
in queue. The time that the cook takes to attend a customer

is exponentially distributed with a mean of 3 minutes. Find :
(1) Utilization factor
(i) Probability of queuing system being idle

(iti) Average time that the cook is free 10 hours working in

a day

(iv) Numbers of customers in the shop.

3. Attempt any o of the following : [16]

(@)

[4269]-323

The director of Finance for a Farm Co-operative is concerned
about the yields per acre she can expect from this year’s crop.
The probability distribution of yields for the current weather

conditions is given below :

Yield per acre (in kg) Probability
120 0.18
140 0.26
160 0.44
180 0.12
4



(b)

{2

(c)

[4269]-323

She would like to see a simulation of the yields she might
expect 10 years for whether conditions similar to those she

1S now experiencing.

Simulate the average yield per acre she might expect using

the following random numbers :
20, 72, 34, 54, 30, 22, 48, 74, 76, 02.

For the following network identify the critical path.

Find earliest start, earliest finish, latest start, latest finish,

total float, free float and independent float for each activity.

Fill in blanks in the following life table marked by ‘” sign.
Age l, d, q, Dy L, Ty
50 60 ? ? ? ? 240 ?
51 50 — — — — ? ?
5 P.T.O.



4, Attempt any o of the following : [16]

(@)

(b)

[4269]-323

A manufacturer uses 45000 units of an item annually. No shortages
are allowed and supply is instantaneous. Cost ordering is
Rs. 50 per order and inspection cost of items is Rs. 15 per

order.
The holding cost is Re. 0.65 per unit per year.
(z) Calculate EOQ.

(i) If lead time is 5 days, calculate recorder level, assume
the year of 300 days.

Given below is the information about a project regarding different

activities. All time estimates are in days.

Activity to t, th
1—2 2 5 10
1—3 8 10 12
2—4 6 12 15
3—4 3 7 10
35 4 8 12
4—5 7 10 14
5—6 5 8 13
3—6 4 7 10

(i) Draw the network and find the critical path.
(i) Average project duration to be determined.

(iii) Find the probability that the project is completed in
32 days.



(¢c) (I) Explain the following terms :
(i) Tolerance limits
(ii) Process capability index.

(IT) Evaluate :

f xe3* dx .

5. Attempt any o of the following : [12]

(@) The electronic components are produced in a batches of size
50. First 10 samples are inspected and number of defectives

are given below. Construct np chart and comment :

Sample Number of Defective Items
1 3
2 4
3 2
4 2
5 3
6 1
7 3
8 5
9 7
10 7
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(b)

For the following profit table find the optimal strategy by :

(i) Hurwicz Alpha Criterion (o 0.7)
(ii) Laplace Criterion :
Ny N, Ng N4
Sq 30 10 10 8
+So 40 -15 5 7
Sg 50 20 -6 10

(¢c) The maintenance cost and resale value per year of a machine

whose purchase price is Rs. 7,000 is given below :

Year Maintenance Cost Resale Value
(in Rs.) (in Rs.)
1 900 4000
2 1200 2000
3 1600 1200
4 2100 600
5 2800 500
6 3700 400
7 4700 400
8 5900 400

[4269]-323

When should the machine be replaced ?




Total No. of Questions—6]
Seat
No.

Time : Three Hours

N.B. :— (i)

T.Y. B.Com. EXAMINATION, 2012

BUSINESS ENTREPRENEURSHIP

Paper III
(2008 PATTERN)

All questions are compulsory.

[Total No. of Printed Pages—3

[4269]-324

Maximum Marks : 80

(i1) Figures to the right indicate full marks.

1. Explain any #fuwo theories of Personality.

[14]

2. Explain the meaning of group and state the classification of

groups.

Or

[14]

Define the term ‘Team’ and state the various benefits of ‘Team’. [14]

3. (a)
(b)

(@)
(b)

Explain

Discuss

Explain
Explain

in brief Organisational Behaviour Model. [7]

in brief entrepreneurial personality. [7]
Or

theory X [7]

resistance to change. [7]

P.T.O.



4, What is Stress ? Explain various sources of stress. [14]

5. Write short notes on (any fwo) : [14]
(a) Definition and Importance of Organisation.
(b) Behavioural Theory.
(¢) Conflict Management.

(d) Management by Objectives (MBO).

6. As a senior manager of a company, you are to report to the top
management, regarding occurrence of change. State and predict various

possible causes of changes. [10]

(WS wUIaR)
q% : o A TR T : 80

g — (i) Wd WA A sTRa.

(ii) STEihel® ke O I,

1. ‘oJKEE A Geedd Svael g fagr R & [14]
2. U T Hhoq dl Ad WEH TS RO | [14]
feRar

‘TE' A Ghedidl e 9r[ ‘uum’ fafaw wee @mm [14]
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3. (3) UHAHE T AN e TR H [7]

(F) UNHE FE™ deHd W . [7]
fepar

(1) ‘m' fog@ w= wA [7]

(9) oM T oy T & [7]

4. dU WU & ? e fafay sRO ww #A [14]

5. foor femr (e @M) [14]

(31) TEeId Al 9 HEd.

~

() adqfawEes  fag.

() TuuY SHIEIH.

() 3fesefiss =awmH.

6. HUAE IS XU A AIM YIS seorEl fHdl o fasRi S=u
LTI 3RS Wel hUdaal 3. 9@ &l oad I fafgyg &R

SAM ®U 9 G [10]
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Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4269]-325

T.Y. B.Com. EXAMINATION, 2012
MARKETING MANAGEMENT
Paper III
(Advertising Management)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define advertising. Describe the economic and social effects of

advertising. [14]

2. Explain the various components of advertising layout. [14]
Or

Describe the classification of various media of advertising. [14]

3. (a) Write a note on ‘Limitations of Advertising’. [7]
(b) Explain the functions of advertising agency. [7]
Or
(a) Write a note on ‘E-advertising’. [7]
(b) Explain the role of women in advertising career. [7]

P.T.O.



4, What is Brand ? Describe the various types of brand. [14]

5. Write short notes on (any fwo) : [14]
(a) Advertising in non-business areas
(b) Rural advertising
(c) Steps in branding process

(d) Advertising as a profession.

6. Explain the need for educational training for modern advertisers. [10]

(TS ®UIR)
q% : o\ A THU T : 80
o :— () Wd WA Giefan sewde o,
(i) ISEIhele 3 qul IO SFifoam.
(iii) GeuiHId! {& SUSH WEufehl gl

1. feudi=i =ared @, Sifeddren  offefer  erfor wmifses uftommme 9uie

. [14]

2. Wifeud ANESddie fdafay weh< TR & [14]
ferar

Sfeudren fafay weaare afifentoneass ouiE . [14]

3. (31 ‘Sifeudren #afer' aerR du fomn [7]

() <feud €= & W w9 [7]
ferar

(31) ‘s-wfeud’ IR dw fom [7]

(9) wifetqd W= fomrt gfier = & [7]
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4. TR Brand) =S wI ? O fafay geErR ovim .

5 dew@ dw fow (FemE dF)

(31) TR =AEgiEFes S Seddl
() TrHor Sifead
(%) o= ufEadio a=e=

(§) wnfedd Wk TR

6. oMY WifeUdeRi=n iU RIS TR A
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat
No. [4269]1-326
T.Y. B.Com. EXAMINATION, 2012
AGRICULTURAL AND INDUSTRIAL ECONOMICS
Paper III
(2008 PATTERN)
Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State and explain features of Rural Economy. [16]
2. State and explain the types of irrigation in India. [16]
Or

State and explain functions and weaknesses of Dairy

Cooperatives.

3. Answer in brief :

(@)
(b)

(@)
(b)

Impact of industrial policy since 1991. [8]

Causes of industrial imbalance. [8]
Or

Role of Government in SEZ. [8]

Role of private investment in Infrastructure Development. [8]

P.T.O.



4, State and explain role of multinational corporations in India.[16]

5. Write short notes on (any fwo) : [16]
(1) Need for Balance Regional Development of Industry.
(2) Importance of industrial policy.

(3) Problems of public sector investment in infrastructure
development.

(4) Problems of establishment of SEZ in India.

(WS wUT)
q% : o\ A THU T : 80
o :— () |d WA diefau sfer e
(i) SSElhSle 3k YrArE O O SFifear.
(iii) USIES G TUSH WEUlAHT TRrE.

1. U Adawd=i afited " 9 feRe & [16]
2. 9NAdie 999 Yeed™ YR G 9 foe & [16]
ferar

WA o9 F9O= w@ 9 3fEr @m o9 fmr s

3. qeRd SR o

(31) 1991 UGN SicEniies gRUme gy, [8]

(&) ofcafier sTudiol R [8]
feRar

(31) forro snfefer adle wXeh=l yfHeh. [8]

() WEgTErp foOeErdie @reel [aauEhiel  JHiehL. [8]
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4, YRAMIe dgUSE HeMsordl Hiel Wrm a fwe & [16]

5. dieqa four fogr (o @F) [16]
(1) Sl YR THde fawmEsl T
(2) Sl 9RomME Hewd.

(3) WESIHh SUHHMIG [qaUEh= WA faade  THe.

(4) 9Radie fom onfde &3 TUHdie THE.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4269]-327

T.Y. B.Com. EXAMINATION, 2012
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Paper III
(Defence Budgeting and Financial Management in India)
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions in 20 words each (any ten) :[20]
(1) What do you mean by National Power ?
(2)  Define Public Good.
(3) Write any fwo functions of Ministry of Defence.
(4) State the concept of Financial Control in Defence Budget.
(5) What do you mean by war potential ?
(6) State the meaning of Zero Budget.
(7)  Write any #fwo limitations of defence management.

(8 What do you mean by “Mobilization of Resources” ?

P.T.O.



(9) Write any fwo methods of war finance.

(10) State the concept of contributory elements of war potential.
(11) What do you mean by economic warfare ?

(12) State any two effects of war on society.

(13) What do you mean by industrial capacity of war ?

2. Answer the following questions in 8) words each (any two) :[10]
(1) Discuss India’s budgetary perspectives.
(2) Discuss economic consequences of defence expenditure.
(3) Describe elements of war potential.

(4) Write a note on execution of defence budget.

3. Answer the following questions in 150 words each (any two) :[20]
(1) Discuss economic theories of defence.
(2) Explain challenges in financial management.
(3) Discuss the role of financial advisor in defence services.

(4) Describe impact of war on the society.

4, Answer the following questions in 300 words each (any two) : [30]
(1) Write a note on the financial administration in defence services
(2) Describe India’s defence expenditure since 1998.
(3) Discuss linkages between Planning and Budget.
(4) Describe India’s security policy.
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(AOE ®UI)

q% : o\ A THU T : 80
o :— () Wd WA Giefan sewds o,
(ii) SSEIhele 3k U IFifdr.

1. YIH 20 I SW o (HIUCRT /) ¢ [20]

(1) T&F IFE WS %E ?

(2) Yok el TS T
(3) WU TR W S foml

(4) TIYU IEUTkREG Afde o wus s ?

(5) JSHAA WUS kA ?

6) @ o =W ®wE 2
(7) TR oA e #aier o
(8) WYTHUNE! TAHMAT US| S ?

(9) dR ®EAREST @M dgdl TS &

(10) IS&AAA AN CUR ¥k WIS &M ?

(11) offeh Jgusd! WU wF ?
(12) I FANER R &= afome fen
(13) gor=ht SicHifites &l =Sl & 2

2. TRl 50 I SW o (PRl dE) e [10]

(1) HIXAT=A 6*i<{|\7|“|>|°h|°¢il LIHFQORE\I% S I o T
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(2)
(3)
(4)

(D
(2)
(3)
(4)

(D
(2)
(3)
(4)
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T TEeA oA gRumaifase ==l .

ISHATAT FHE S auH

TIEIUT  SSTUShTE STHGSSau e fegur fomr.

150 =M SW o (FURE IE) [20]

Trequm=  oTfefer  fagideed == .

anfefer  ToXATAEN 37| T2 .
WU Ao e Heor=a i ==l &
o= gueeR o) fafay afomm aoH w6

300 I SW oAl (RO FE) e [30]
T adie onffe wmmea ger fegur foer

1998 UA=AT URATl WEUEde @Ed 9uH .

fRESA fr SeNUseh Idies Geemered =<1 .

IR GRATEIRu 9o .



Total No. of Questions—6] [Total No. of Printed Pages—3

Seat

No. [4269]-328

T.Y. B.Com. EXAMINATION, 2012
INSURANCE, TRANSPORT AND TOURISM
Paper III
(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Enumerate the functions and working of IATA (International Air
Travel Agency). [14]

2. Explain the difference between Tourism in India and Tourism in

other countries.

Or

Explain the factors related to Travel and Tourism Business. [14]

3. (a)
(b)

(@)

(b)

Explain the need of Visa for International Tour.

Write a brief note on TAAI (Travel Agents Association of India)

Or
Write a brief note on IUTO (International Union of Travel
Organisation)
Explain the role of Embassy in International Tour. [14]

P.T.O.



4. Enumerate in detail, the role of tour and travel agent in

tourism. [14]

5. Answer the following questions (any two) :
(1) Explain the significance of communication skill for tourism.
(2) Write a brief note on tourism in Hong Kong.
(3) Explain the role of Tour-operator in tourism.

(4) Write a brief note on Tour Accommodation. [14]

6. What are the facilities available to International Tourist in

Singapore ? [10]

(W& EUIR)

q% : o\ A THU T : 80
o :— () Wd WA Giefan sewde o,
(ii) 3IEiwele 3 Ul T TFifoard.

1. AW R aE §El (JATA) *@ offor &M fove &3 [14]

2. RAdie 9ded 3Tl sl <3Tdie 9ded Idie Wih T hl. [14]
ferar

I ifor wHed HeEmEmeh el o Ueeh W R
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3. (31) AWRHE IBEE (VEEEE) f@m (Visa) = RS W H.
(9) 9RdE ga@ giaet d€e  (TAAD IR e[ feu fosn
fepar

(37) ‘IE-UEeAdl ofawrsed gied’  (IUTO) aeR oiewm feu fom

(9) SITRUSRE a5 73 Wehd gahiod (Embassy) = a1 ¥a% &0 [14]

4., WHeTme I e gerw gfafei=l  (Tour and Travel Agent) YfHeht
gfaer e+ [14]

5. Woe TR SR T (Rl dF) [14]

(1) THcAEE 99U Sgae Hed W S

(2) ‘Bl-simde W' IR drewa fear fomn

(3) WA AM-ARSRET qfger TS

(4) s fram-sgarr IR digRnd fear foarn

6. TOMR ¥ ST Tk Hive gadar Iqeed 3. [10]
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of Questions—5] [Total No. of Printed Pages—3

Seat
No.

[4269]-329

T.Y. B.Com. EXAMINATION, 2012
COMPUTER APPLICATION
(Paper III)

(MIS, Software Engineering and Enterprise Resource Planning)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.

1. (@A)

(B)

Attempt any four of the following : [8]

(1) What is system ? State its characteristics.

(ii) What is Software Engineering ?

(iiz) What do you mean by ERP ?

(iv) Write the format of Decision table.

(v)  Define Business Process.

Attempt any o of the following : [8]

(i) Explain any four McCall’s Quality factors.

(i1) Explain the concept of Business Process Re-engineering
in detail.

(iit) Write a note on Data Dictionary.

P.T.O.
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2. Attempt any four of the following : [16]
(i)  Discuss on benefits of the ERP.
(ii) Write a note on Prototype Model.
(ii1) Explain the ISO standards in detail.
(iv) Explain System Implantation Strategies.
(v) Explain the role of MIS.
3. Attempt any four of the following : [16]
(i) Explain the feasibility study in detail.
(1) Explain Input Design with example.
(itzi) Differentiate between MIS and BPR.
(iv) Explain different types of system maintenance.
(v)  Explain the concept Reverse Engineering and Re-engineering.
4, Attempt any four of the following : [16]
(i) Explain fact finding techniques in detail.
(ii) Explain SDLC in detail.
(iizr) Explain different types of testing.
(iv) Explain the concept of Information and Knowledge in
detail.
(v) Write a note on Information Management in SCM.



5. Attempt any four of the following : [16]
(i) Discuss the concept decision table in detail.
(it) Write a note on CMM level.
(ii1) Explain the role of System analysis.
(iv) Explain MIS and the Information and Knowledge.

(v) Explain System Requirement Specifications.
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T.Y. B.Com. EXAMINATION, 2012
COMPUTER APPLICATION
Paper V (Vocational)

(2008 PATTERN)

Time : Two Hours Maximum Marks

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer the following questions (any three) :
(a) Explain any four topologies.
(b) Explain the uses of internet in modern world.
(c) Explain waterfall model in designing a website.

(d) Explain EDI trade cycle with diagram.

2. Write HTML program for the following (any two) :

(a) Pune University
Pune Nagar Nasik
2000 3000 4000

(b) Write a program to insert an image in webpage.

No. [4269]-330

: 40

[15]

[10]

P.T.O.



(c)

(a)
®)
(c)
(d)
(e)
%)
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This is my college

This is my college

This is my college
This is my college

Write short notes on (any five) :

Joint Application Model
Search Engine

Types of E-payment
Digital signature
Encryption

LAN.

[15]
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No. [4269]-331

T.Y. B.Com. EXAMINATION, 2012

ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT

(Vocational)
Paper V
(Salesforce Management)
(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Narrate the functions performed by sales manager. [12]
Or

What do you mean by sales quota ? Explain the objectives of sales

quota.

2. Define the term ‘training’. What are the objectives of training ? [12]
Or
What do you mean by public relations ? Explain its

importance.

P.T.O.



3. Write short notes on (any fwo) : [16]
(a) Concept of sales management
(b) Importance of performance appraisal
(c) Objectives of customer relationship management

(d) Objectives of motivation.
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No. [4269]-332
T.Y. B.Com. EXAMINATION, 2012
TAX PROCEDURE AND PRACTICES
Paper V (Vocational)
(Customs Act)
(2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.
1. Answer in 20 words each (any five) : [10]

(D
(2)
3)
(4)
(5)
(6)

(7)

What
What
What
What
What

What
Entry.

What

is meant by ‘Coastal Goods’ ?

is FOB value and CIF value ?

is the nature of customs duty ?
is meant by ‘Customs Station’ ?
is ‘Advance Ruling’ means ?

is ‘Bill of Entry’ ? Enumerate types of Bill of

is Boat-Note ? When is it prepared ?

P.T.O.



(1)
(2)

(3)
(4)

(1)
(2)

3)

(4)

(1)

(2)

[4269]-332

Answer in 50 words each (any two) : [8]

What is meant by foreign going vessel or aircraft ?

Enumerate hierarchy of Administrative Authorities under Customs

Act.
Why is the prohibition on import or export of goods made ?

What are the different allowances provided under ‘Baggage

Rules’ ?

Answer in 150 words each (any fwo) : [12]

Distinguish between ‘Customs duty’ and ‘Excise duty’.

What is meant by ‘Territorial Waters’, Customs Waters’ and

‘Economical Zone  ?

Who is ‘Person-in-charge’ ? Discuss his role at the time of

clearance of imported goods or at the time of export of goods ?

Discuss the powers of authorities appointed under ‘Customs

Act’.

Write answer in 300 words (any one) : [10]

What is meant by ‘valuation of goods’ ? How is the ‘Assessable

value’ determined under Customs Act.

What is ‘baggage’ meant ? Discuss provisions for clearance of
‘baggage’ ? What are the exemptions available from duty on

baggage.
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No. [4269]-333

T.Y. B.Com. EXAMINATION, 2012
ENTREPRENEURSHIP DEVELOPMENT
Paper VI (B) (Vocational)
Common to :
(1) Advertising, Sales Promotion and Sales Management
(2) Computer Application
(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State and explain barriers to entrepreneurship development. [12]
Or

Narrate the merits and demerits of partnership form of business

organisation.

2. Write a detailed note on functions of MIDC. [12]
Or

Briefly discuss how to manage stress at organisational

level.

P.T.O.
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T.Y. B.Com. EXAMINATION, 2012
TAX PROCEDURE AND PRACTICES
Paper VI (Vocational Course)
(Entrepreneurship Development and Project Report)
(2008 PATTERN)

Time : Two Hours Maximum Marks

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any five) :

(1) What do you mean by Human Resource Planning ?

No. [4269]-334

: 40

[10]

(2) How would you define SSI unit ? What is its main role ?

(3) State the various ‘Types of Business Ownership’.

(4) Define market and marketing.

(5) Define short-term and long-term finance and state needs of

them.

(6) What are the main activities of the process of entrepreneurial

development ?

(7)  Define ‘Entrepreneur’ ?

P.T.O.
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2. Answer in 50 words each (any two) : [8]
(a) Explain the basic qualities of an entrepreneur.
(b) Discuss any four key elements of entrepreneurship.
(c) State any four specialities of private sector.
(d) Explain the four ‘P’ referred as ‘marketing mix’ which affects
on sales volume.
3. Answer in 150 words each (any {wo) : [10]
(i) What are the main characteristics of today’s business to achieve
the success of an enterprise ?
(ii) Define ‘motivation’ ? How does it affect on to develop behavioural
qualities of a good entrepreneur ?
(iti) Define ‘cash flow’ ? How does the cash flow operating cycle
work ?
(iv) Discuss, how the Commercial Banks are helping to provide
finance to a new venture.
4, Answer in 500 words (any one) : [12]
(a) Give the distinctive features of traditional managers and the
entrepreneur.
(b) State the various behavioural qualities of a successful entre-

preneur as an individual. Discuss in detail t{wo of them.
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